Exam 2, MA 131M, 31 October 2022

Please show as much work ‘as you need Keep in mind that if you skip several steps and get
an incorrect answer, it will be very difficult to assign partial credit. Please take a moment
to skim through the test first and start with the questions you feel most confident about.

Your answers do NOT have to be in order on your paper.

1. (15) Consider the following piecewise-defined function. Assume ¢ is a constant.
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What must be the value of ¢ so that g(z) is a continuous function? Sketch a graph of

this function on the interval [—2, 2] below.
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(14) The graph of f (ZB) is shown

to the right. Describe the behav1or at the
asymptotes z = 3 and y = —2 by writ-
ing the appropriate.limits on the graph, as
done in class.
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